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10.

Answer ALL questions.

PART A — (10 x 2 = 20 marks)
Obtain B3Z line code for the following data sequence 101000110001.
What is meant by frequency justification in SONET?
Specify the switching types involved in a voice, when a voice call is made?
Nlustrate the advantages of using multi stage switching over single stage.
Mention the sources of clock instability.
Define the term “Slip”.
What are the features of ISDN D-channel?
List the at.ivantages of ADSL over ISDN access.
What is meant by the Traffic of 0.7 Erlang?

Define the term LCH.
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PART B — (5 x 16 = 80 marks}

Draw the functional block diagram of SONET multiplexing and
explain. (8)

Explain how does a SONET ring address the network survivability.
®)

Or

- Describe the TDM loop,v used for the inter connection of distributed

nodes. 8)

What is need for framing synchronization in TDM? Describe the
different means of achieving frame synchronization. - (8)

Explain the design of non blocking three stage switching network

with minimum number of cross points. (8)
Briefly explain the method of Jacobaeus for the analysis of blocking
probability and compare it with that of Lee graph method. 8)
Or
Compare the time division and space division switching
architectures. (4)
Discuss the function of No.4 ESS toll Switch with the help of its
matrix architecture. (12)

What is meant by jitter? Explain the measurement method of jitter

detail.

[tY)

in detail. (8)
Briefly explain the network synchronization schemes used in digital
network. (8]
Or
Explain the function of PLL in clock recovery circuit. (8]
Describe the need and role of an elastic store in TDM link and =
digital interface. (8]
Explain the protocol architecture of ISDN and its reference point ir
Or
Describe the different forms of digital loop carrier systems witk
typical illustration. 8
Briefly explain the concept of Hybrid Fiber Coax system. 8
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For telecommunication switching system which clears the lost call
with infinite number of subscriber, obtain the expression for
blocking probability and grade of service. (12)

The traffic statistics of a PABX indicates that 180 outgoing call are
initiated every hour in a working day. Equal number of calls comes
in. Each call lasts for 200 seconds on the average. If the GOS
required is 0.05, determine the number of lines required between
the PABX and the main exchange. [C))]

Or

Explain the delay system and obtain the expression for delay
probability. (12}

A PABX provides queuing and automatic call back facility for
outgoing calls. If there are 20 outgoing call requests per hour and if
the average call duration is three minutes, how many trunk line are
needed to ensure delays less than 30 minutes for 90% of the
requests? [CY)
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